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QUESTION 1

Why is it important to follow the same Interfaces? 

A. Websites that try to interface with the Token would have to know the exact ABI. It is upfront clear how the interaction
has to be with the standard Interfaces. 

B. The Ethereum Foundation can easily validate the Tokens and approve any audits by following the standard
interface. 

Correct Answer: A 

 

QUESTION 2

Which is the right order for Denominations? 

A. Wei, Finney, Szabo, Ether, Tether. 

B. Finney, Szabo, Mether, Gwei. 

C. Gwei, Szabo, Finney, Ether. 

Correct Answer: C 

 

QUESTION 3

To Iterate through a mapping, you: 

A. can use the length parameter of the mapping. 

B. you need an external helper variable. 

C. you cannot iterate any mapping to make the overall language design more safe. 

Correct Answer: B 

 

QUESTION 4

It\\'s not possible to use inheritance from multiple sources in Solidity. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 5

CBDE PDF Dumps | CBDE VCE Dumps | CBDE Braindumps                                2 / 3

https://www.pass4itsure.com/cbde.html
https://www.pass4itsure.com/cbde.html
https://www.pass4itsure.com/cbde.html


https://www.pass4itsure.com/cbde.html
2024 Latest pass4itsure CBDE PDF and VCE dumps Download

What is the difference between ERC20 and ERC721 Tokens in simple terms? 

A. The tokens of a certain ERC20 symbol are all the same, the tokens of an ERC721 symbol are all different. So,
ERC20 tokens are fungible, while ERC721 tokens are non-fungible. 

B. The tokens of a certain ERC20 symbol are all different, the tokens of an ERC721 symbol are all the same. So,
ERC20 tokens are non-fungible while ERC721 tokens are fungible. 

Correct Answer: A 
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